BCW
PROVISIONAL ANSWER KEY

Name of The Post Assistant Director (Training) /Principal, Gujarat
Skill Training Service Class-1

Advertisement No 32/2021-22
Preliminary Test Held On 22-01-2022
Que. No. 001-300

Publish Date 24-01-2022

Last Date to Send Suggestion ()  01-02-2022

Instructions / ¥ dell (Physical Submission)
Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l

(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234
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(1) | DETRETEN TR
1. MR ALoI[AS 2217 Brir dtoudi 8° Grr dl 37° Grir 2atiall a2 »udd 6.
2. MIRAAL He Mgl sEaT uAR wu 9.
3. ela cuRarl ulBH 214 yd suggl elRan [ua uuid ulanae s ydane 2uda 6.
(A) 12 2 4idu 89, (B) 2 211 3 0idy 89,
(C) 1o 391U 8, @223 u0u8.

NN A

002. QURd- gl 2 t1geds Ul A2l A3l

1. §%3U el a. U~ AU

2. dotesl el b. (8143 uly-

3. ugirel c. doLMgL Al

4. Ada% el d. (BRI ALyl
@-22-¢3-p,4-4 (B)1-b,2-¢,3-d,4-2
(©)1-d,2-¢,3-2,4-b (D)1-2a,2-b,3-¢,4-d

003. GURAL ARAAR 24 Aoild AN A2 WA 55 A uioy el ?
(A) S1AR — AHUL (B) ydllse — dlnarg
@ e - 320 (D) U™ — Ay

004. 1A Al AS1AL 2
1. L Aloreil oposRua-dl Alell HIZL g 8d s Al 8.
2. gL Al You 482 Axdl g2t [l Alell Wil 18R viral.
3. HEL ALl UHA 18R A 1,00,000 (3,301, 6149l % dyrnani sl
4. 20 AU 9490 WHIAL 241 173 AR Wlandg wiell 2uugl dg suaix 8.
(A) 1,2 21 3 910y 89, (B) 2,3 ¥ 4 U1y 89,
(C) 1,321 49U 89, @22 4u0u 8.

005. 2l Hra WS A A%u-l A2 UA 56 )l aloy «d)?
(A) 2iaue - Wl si-31L (Papikonda)
(B) YAZRUAA UE2 - HIAAU (Manas)
.[G{QR - qudl (Nameri)
(D) 213U - AvUAER (Velavadar)

n [BCW] [Contd.
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006. UL WuAld €ld R (Hill Station) A1 A%ULA 412 Jd Aisdl.

1. 3EldL - Keylong a. A[s54

2. VEHIRL - Almora b. [BH124 usal

3. ddidL - Tawang c. Grwvis

4.°02215 - Gangtok d. AZRAL N
(A)1-¢,2-d,3-2,4-b @ -v.2-c3-d4-a
(C)1-d,2-2a,3-b,4-c (D)1-2a,2-b,3-¢c,4-d

007. ©igR (Port) i1 AU~ 54 ALl uloy 97

1. seglul- ulEm sioum 2. HIAIR - 530

3. wiRl2u - 2R 4. gdlsidlA - Aikuea
(A) 12472 40U © @ 30008

(C) 13 4 Uidu 8 (D)1, 2,3 24 4 419y €9

008. QURAAL AL 24 AL 56 A Uiy l?
(A) A38UA4 UL - H211R (B) 20H - [BayR
@iz - daaiz (D) RARH - 2udAa

009. N2+ U4 59 vilaL (Pass) [y €l giL oirid 97
.@lédR{ WA (Rohtang pass) (B) HI-lL WAt (Mana pass)
©) Al wa (Niti pass) (D) g4l WAt (Nathula pass)

010. DAl WA s dluayel (Al Ale) {21 9?7 (Archipelago)
(A) visuit RsionR [ RRIED
(C) aaglu (D) Mgl

011, ~lal-u sl AsAl:
1. 14 1960+ A% 2)Ad AU 22U sUHE 2udd Sl
2. 921 Azl WA @01 1600 Sl el [(Bul ©.
3. 31l AU [A2e1R 1.96 aret Al AL 8
@, 2 211 3 sl Ao B, (B) 1 %17 2 cusdl Wloy 8.
(C) 2 211 3 sl Aidy 89, (D) 1211 3 sl A2y 89,

012. URAl AReEl, 7l 24 well Adld Sean 2o i uol ¢97?
(A)7 (B) 8

@ (D) 10
[BCW] [PT.O. B
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013.

014.

015.

016.

017.

018.

ol Auis sl i A2 Gurimdl Al WAL 56 AL ulon 42fl?

(A) Al 12252 21D M2 - 51
(C) Al [(Aefarel 4eIR - X

Avisl 241 a2l glazti-l oA dl UL 56 Al uloy 972
1. 5151 SLAASR - G £ AW

2.2u[a. wes - 8350 audl

3. [3airena nazaw - sl 193
4. »ae Hawll - WarRuH-i elay

@232 400u,
(C) 2,3 21 4 412U 89,

avis i d2ill -1 2490 Adlal 2

1. %uidls €4
2. Grgis ol
3. usiald uiq

4. qloueus ued
(A)1-¢,2-d,3-a,4-b
(C)1-d,2-2,3-b,4-c

A=A sl sl

(B) 4l YR aali sdla - sand
@: 52 nsre ool weydl - 2une

(B) 1,2 ¥4 3 uiou 69,
(D) 1,3 24 4 4ioY 89,

a. 5l Fal
b. 3l 212l
c. sadl

d. Wi 2q

@:-v.2-c3-d4-a
(D)1-2,2-b,3-¢,4-d

(1) 2leir [, oo Bl Heirt glaziiqn 2 dusie 9.
(2) 1=, WMy, u 5 el g Yasiqi Avis Hetedl aul 9.
(3) 22l 22, Gdall, Al gyH- dvis HR) AloL ElsR ©.

(A) 124 2 412U 89,
(C) 13 3 Uidu 89,

-

Yaels 24 Auis-ll Al ollsal.

a. Gitanjali

b. The Guide

c. A Suitable Boy

d. The White Tiger
(A)a-4,b-1,c-2,d-3
(C)a-1,b-2,c-3,d-4

(B) 2 24+ 3 uloy €9,
@:. 2 211 300u8.

1. Vikram Seth

2. Aravind Adiga

3. Rabindranath Tagore
4. R. K. Narayan
@:-30v-4c¢-1,4-2
MD)a-2,b-3,c-4,d-1

e i AoilAd AUl A2 WS 56 A8 dlou 1dl?

(A) A& L2l - 20014 (Tabal Chongli)

@: o - 300 (Phag)

(B) uranlun - [B1812 (Panwariya)
(D) uadl - Ail32u (Savari)

[BCW]
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019. QURAL ¥[2L 211 A% 2Al2AL WS 56 Al wion Al?
(A) ttedl-ua H[2: - Bruvis (Badrinath) (B) [18eR #[e - dlRa-ug (Brihadeeswara)
@20 2qu - Grauzau (U.P) (D) Al a2 - vil32u (Odisha)

020. D2 s GeraHi “8idl 34’ (Boat Race) U8, 221 41 €97
@i (B) 2udl oig
(C) =Rl (D) WAL

021. QA U4 s a8l A151512) (Chikankari Work) 514 Hi2L UHIRHL 01, 697
(A) gueug @i

m (C) BuYR (D) AYR
022.

gL uvAld [3ecuil (Forts) 2 il Al WSl 56 oAl aiou € ?
1. $19R1 512 - [Rwad uea

2. BUHR S1E - AYRA

3. HE USA $12 - B usw

4. AU $12 - USRI

(A)1,2 1 3 @224
(C) 2,341 4 (D) 1,3 21 4

023. A8l (Saree) A d-l AsiBa a1l Al WA 59 2Ad) wloy «d) ?
(A) 510424 (Kanjeevaram) 18] - aHla-ug
(B) "1zl (Nauvari) ALl - {81
(C) titgll (Bandhani) 18l - 921d
@i (Tant) 0 - 20020

024. el 2 d- aRusiR il Al W4l 59 ol uioy Al ?
(A) gR - Wdld agHiz anl (B) U2 - 2l Al 21561111
(C) Al - ¥dld 2] 2is? [ RIEEEIERERUEN

025. sl (Paintings) 2, AL512+0 A2l WSl 56 AL uloy el ?
(A) GURd Hldl Bharat Mata i6i-l-g-1e 212UR - Abanindranath Tagore
(B) 2§ el Shakuntala - 1% 2dl aul
@1y Bapuji - duet udal
(D) 4l 3‘”&'{1‘1 Three Pujarins - il A

[BCW] rpro. B
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026.

027.

028.

029.

030.

031.

032.

el 27 oifld Apu-l A2 WA 56 Al uloy 87

(1) MRd -USAH - Grius

(2) 525 (Kathak) - aHla-ig

(3) s2s s¢l (Kathakali) - 520

@) A ydl - Anis vea

(A) 1,2, 3 i1 4 61190 ALY €9 (B) 1 ¢4+ 2 419y 89
@; 211 4 u0u s (D) 1244 3 4o 8

=\ =\

IeH GYEY GIRL % 6UY AU HUAAL Sell, d 58 MIIHE UUUR] 2UAQ Sell?

(A) Mgyl (B) vl

@A (D) g

dg 49Ul (Velu Thampi) gi2L %Il A1H [AglS 53¢ ell. A1l 5UL AU Sell?
.ﬂC{QL‘s\R (Travancore) (B) asisu (Baroda)

(C) 8gR16ug (Hyderabad) (D) HYR (Mysore)

7 dl ALlH €[ GuRAHL AT Sl Sdl:-

(1) AAA (Cheras)

(2) Ald1 (Cholas)

(3) g sU (Chalukyas)

(4) ueqay (Pallavas)

(5) U (Pandyas)

@25 (B)2,3 x4 4
(C) 3,441 5 (D) 1,2 211 4

(A% AR g1RL ALl 3 vildiet 20U Sl d vildlel AL A SR ALELA ERUI URd 53¢
S, d vl sul 8di?

(A) &% 30l @2k

(C) A 481gR (D) 2R GISIER

AU YR dailer, AL UL 521 GUEASAL AHAIUO ERAUA LUl Sell?

@-1s0 (B) gHIgA
(C) e8I (D) 22eus Y\

NAl3+0) 2161 (Presidency Town) ¥i 3[R 220u-1 sa1 avxi a3 ¢dl?
(A) 1856 @557
(C) 1858 (D) 1859

[BCW] [Contd.
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033. 1857 -l WUH Adat Y-l 5128 adlazyi g 512 A ¢dl?
(A) B drr wad) Al $22 S-flar sudld dnld scumi 2udl.
@52 S0 su-l wAd arued @S Bulza awsA i 2ud.
(C) S22 S=8lan Su-Al-l Azl A g-AA dsgla scuni »udl.
(D) S22 SO su-D- Aruil ol 2is H3527 A€l suni 2udl.

034. S~fludt iz s S~u=s 1857 (Indian War of Independence 1857) -ii Auis sl sdl?
(A) ¥R AUE VUSHE Vi @ v crviier wars
(C) 2UR. . AHL (D) 2R, Al HYHER

035. vlleusd yad-2 (Khilafat Movement) -l 23%d 5181 53¢ ¢dll?

(A) HEHE el DL (B) Hldlrll A6EA SAUH HURLE
@A i (21l vigl) (D) 240U Bt

036. AN 4 AAHA APY Jd Asal.

(1) 1191 (a) dQl‘S"l'i UYH Yt (First War of Tarain)
x (2) 1526 (b) wslludd am Yy

(3) 1659 (¢) HAeT] Yt

(4) 1665 (d) dléﬂ_%\lal:i Yty (Battle of Talikota)

@ -22-13-¢4-4 (B)1-b,2-¢,3-d,4-2

(©)1-¢,2-d,3-2,4-b (D)1-d,2-2,3-b,4-c

037. RUaaiz 2»is2 (Rowlatt Act) Ul QMU UAIR $AUHL 21AE Sdl?

(A) 1916 (B) 1917
(C) 1918 @019

038. 2une [€e s1% (Azad Hind Fauj) ll 221Ul 5181 244 s21 avui s34 ¢ dl?
(A) HsieHL il - 1928 @10 youaeis il - 1943
(C) FUSRAUA 183 - 1936 (D) D YuAs 6% - 1945

039. 8% Ued UH AU 2 At (G-l Adl2 WS 56 A8 dlou ell?
(A) 2oL —> qut (Mlarl) — ud Bz
(B) W1 — BlRac/Rerys — el [BreiR
@ > Bandl - ayru A el A Ut
(D) Het —> [A12121 — uyR [real

[BCW] [PT.O.
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040.

041.

042.

043.

044.

04S.

(1) 1848 Hi GURAAL AR %A dLl3 2udal 3as18il2 cudul stul A%y 2 “viaAl Al -
WHA A3 534 Sl

-

(2) st-lallau gl 18yl caarzan w2 sl gHsidll utald erma s2a gdl.

BURS AsUL ASIAL.
(A) 1A 1 sy ALY 89 (B) 3L 2 LU U1 €9
@1 211 2 vin cwseil dou B (D) 1247 2 6iAL cusl 4o el

AUl (Raja Yoga), $HuloL (Karma Yoga) Bl Yesi-ll 241 518 s34 697
(A) A 2w 2. AR @\ ) [asiie
(C) 4l Aml3m uHEA (D) 4l AN AUHSARAY

D2l WS s 20 IR o Bedlg s WS Himd UsH 2udd 697

@iz (B) HSIR1%
(C) ARUd (D) aHla-ug

SUAY 25U U (Faceless Tax Scheme) {3 Al cusul AL

(1) 2019 L Svsi-ll G1B2HE AL ALY A3 534 8l

(2) WS 2uasdl Ysaria- 2Ue »uudl

(3) 2 UL SIRQL GLHLY AAGIR 3613 AUS A21R A

(@) alsaoia 21852 6121 adiell, oo 3<) x1duen g Ul

(A) WaL 1, 2 24 3 912y 89 (B) M1 2, 3 24 4 4194 €9
(C)HA 1, 32 4 4w & @23 4ot diou ®

A5 QS"ESL%QSQR 53 (Agriculture Infrastructure Fund) tUidHi 3{{, sy Uiy Afl?
(A) 2 Al 2020 Al 2029 YU wuSl ad e &
B) 20t WSl At A 513 Havllall 21 vi-u-, UPN UL

-\

@ i Gur 4% cuor Asd Hen 3. 3 53D HalEi 2iumi 2uad

ey

(D) 2 53 gL VA5 vt 53 3L (821w a9l dal e ©

6i3 615 (Bad Bank) i ..........

D2l WA 5y cusy uloy 4l?

@ o2 284, o vl s

(B) i=lls curmi (Technically) 1 212 f15259 $u-ll € (Asset Reconstruction Company).
(C) 21 615 R 5L 2l 2a2a1 fuiofle Adl -l

(D) ALY A Girsell AULAL YA 5l 2L ML, NPA it AL A2 dAgld $aAHE 214 69,

[BCW] [Contd.
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046. 123 craoidldl wZ-rellu (Limited Liability Partnership) A8 GHi $A1 dlsul qiou 97
(1) €35 cullerrll gaueietdl waidld ©
(2) ellog cellgizl dlRadyys sle sl 51280 241 (lleRi-L 51 gaeigidl oirdl 12l
(3) LLP % a3 s1ag R, St HR1d 9
(4) 20 el Aiagll, cudla cudllerdl sl 1932 S ¢
(A)1,2,3 21 4 9199 &9 (B) 1,2 241 4 91y &9
@221 30008 (D) 1,3 24 4 9oy &

047. ®URAML “Udl 24142 (Yellow Revolution) 5 tlleid A1 U504 97
(A) AL (Tea)ll Gulg- A1 @00 (Oilseeds)-i Gewg 8
(C) Ml o1 &L Beurgt uid (D) 332U Gewg e

048. QU7 53 A% Al a8 doeus - A3 (Road) HR1d 697
(A) A1 (B) Griruga
@22 (D) 2%d

049. 52l 2612 (Natural Rubber) GAlle 1l MURAMI MAH $HT, A% 53 697
(A) aHla-ug (B) Ay
(C) sail2s @::n

050. R AL MM 21U WS (Apparel Park) 521 A%UHE A3 SAUHT 20 Sdl?
(A) 50 @0
(C) 25 (D) 2Aiaueal

051. Aol (SEBI) 5 B+l 2a-1 2A3{let 1988 Hi sAUHT 20dd Sl dg 2vg UH g & ?

(A) Shares and Exchange Board of India
.Securities and Exchange Board of India
(C) Securities and Exchange Bureau of India

(D) Securities and Economic Board of India

052. GIRAHL, t1HRRIHD YA -l ulBul st glrL a3 sauni »ud © ?
(A) Hr. 2uld (B) Hirl. A HEIAA
[ SIERRIRTESS (D) MRd- H-l H3m g1

053. [dzarl g, Al atud (A1 siu ddl disucu-dl 56 oiss ¢ ?
(A) x13e0d (Wlaw) @
(C) URHR (D) 549

[BCW] rpro. |l
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054. A Ld DA 56 sHEAA “Yu SollH2” dals waL 2imaH 2ud 97
.‘-ﬁélél!sﬂ w5 s (Political Affairs Committee)
(B) Ssi-idlls 2453 ¥l ( Economic Affairs Committee)
©) Ayired-z sHl (Appointments Committee)
D) walH-edl 2§05y 534124 ( Parliamentary Affairs Committee)

055. UM, 8152+ S5 Yuu ~uyld-l [Rugls 5o s © ?
(A) dug (B) -, Al AE1ad-L oo ~uyld
@ 2ezuld (D) Hi-L. AU

056. IR iR S 2 san saiadl At U 59 Al uioy -l ?
(A) SIAEL AHA AHIAAAL - SEH 14
(B) cugll ald=t Aoitld 8551 28R - 544 19
@z o5 - san 21
(D) $IRvUAL AU 6UNSIA - 5AH 24 s Avicustl wldoiy

057. <A ausAl AsIAL:
1. GURAAL GTEIRRLAL G101 ABLAL $AH 12 i AUl cAraL UL 20 A 6,
2. A%u-lld- HRlgls Rgididl AHa WA Wi, AR wE1dd s2Adl A9l
3. oinRidl san 40 S0 wm YA 221 2491 A2 Fenda .
(A) 1,2 21 3 910y 89, (B) 1 211 2 92y 89,
(C) 2 341U 8. @1 211300 8.

058. U5 241 AUE- AU {3 A eAG . il gt D2 sl sl
1. $a¥-81 i A3AALAL 24+ 2i31-] s salda 69,
2. $44-82 Hi dlsuIl 2+ {31 A2 salda €.
(A) ML 1 sy LY 89 (B) HIA 2 cllsy U9y ¢
@1 217 2 vi sl dlow ) (D) 1347 2 6i, AsdlL 1o 6.

059. 1A Al AstAL.
1. GuRAL A8l s1ieud] A Wi 0euldni (Al3d i 6.
2. daq a0 eullg, ualudl xulEuc guldul A8 wa .
3. nzula-l 2ell Aue - oi i Y2rad AUl dal AU [[QHnULAL YRAAE AGALAL HAEIRIIELAL

AU 3 89,
(A) 12 2 9129 89, (B) 2 ¥4 3 widy 69,
(C) 1A 390U 8, @ 223008,

m [BCW] [Contd.
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060.

061.

062.

063.

064.

[l ausal As1Al.

1. A8 1A (0] UG WS 4 Ui sUMT 20l 8.

2. A% B Rl cioid-dl A uswL 5 Hi salda 9.

3. G ~aaa- il 65 ad-l Gur Yol igl widl as ©.

4. L Ad A%l G L 2l 62 adl Gu Yl didad sigl w59 as ©.
(A) 1,221 3 Uiou 89 (B) 1, 3 i 4 U1y €9

(C) 2,32 49104 @ 232104008

SIDETRVERCHICTEV RN CUR DI

(A) GURAAL A8 UL 9 HE “Yadl” i3] sdrand il salda 69,

(B) Utd-L HAMLAl ot oitneill sau 243 ($) sulda .

(C) Ynudi-l A2 2491 oorans ¢id- Aldan-l san 243 (o) Hi salda 9.
@ izuuani clsst sruna evarll Ao 243 (¢9) Wi saida 8.

A2 sl AsRAl.

1. ¢iRcr Al san 280 i -uLw 2uiol il o salda

2. AL AUARIHE 28 BURid AR UGAL 81U 69,

3. ~URW AL, AU A A8 AL Alvv]l 2ias-) aduell 2isiHl eama 53 69,

4. -uu >paitdl el Gur dlda uaandl anogdl-aiel, Aue-L vi At unaL % 52 6.

(A) 1,2 21 3 410y 89, (B) 1,2 ¥4 4 41y 89,
(€) 2,321 40U B, @232 400u,
A2 QLsal AsRAl.

1. tiRRill sam 243 (3) Yoror, UAddidl aim 42l 1 HAER el duIR 53], euRv wdl 244
dg dAaq 5g Bl ouoidl -l A A% 426l sHRaquni Rl wu ©.

2. duedl, o [Qun Handl, anzuld, Guarguld-u sig-l Jeellal, el 2uull 52 6, 20 tusid
iRl sau 324 Hi salami >uda 9.
@1 211 2 vi sl dlou B, (B) Hlot 1 cllsy 40U 8.

e

(C) I3 2 sy ALY 89, (D) 1 211 2 i~ sl Uiy ),

Sl Aana HeAZA-Ad WaRd S-3su-oinaud Auid (India: National Multidimensional
Poverty Index Baseline Report) Sirl GIRL GLEIR WISUHI A e 97

(A) Py Houau [ RUEEAHE]
(C) Rien Honan (D) u1adl 21 Hanan

[BCW] pro. [
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06S.

066.

067.

068.

069.

070.

071.

072.

073.

2 sl AsRAl.

1. M$R01-2 HIRA, AlAs-ui dls Al 209 (i) Ao salda €.

2. Als Al UALHE AU aYHi ay 6 Al 21aal 65 arl-l Gu-iL 2 il YAl 539 tioadl asal.
3. dis Aarit sl oueia-dl A auRdsl siteil sau 325 S50 ML 20dd 8.

(A) 1,214 3409 89 (B) 1 211 3 919y €9

(C) 24 341U 8 @1 21720008

@ @ Q)
OlOOBNOJONONONERG)
® @

() dyseqea?
(A5 & (©)7 (D)8

ELFA, GLHA, ILJA MINA viiefl UL UldY 2A6E UYS Y.
(A) OLPA (B) KLMA (C) LLMA @A

25 Awdl Wi 3115 24 31.20 -1 Sl cuar a6 €. 21 a6 sa uHRHE AsHAld s ASA Bl d-l
(54d 31.16.50 uld Sl 2u?
(A) 3:7 (B) 5:7 @ : (D) 7:5

A2 B Uy 25 218 2sH 5 21 6 saUsHl M3 A5 69, C wdu 12 seusHi 205l vudl 52 8. o s
AR YISY, WlAUHT 2Ud dl 218 MR § 1El? 2 MR dl Sedl uHY ARlL?

(A) 218 M8 Al (B)1 % SALS @: % SALS (D) 4 % 5QLS
0.000216 9, &40 (Cube root) 524 €97
(A) 6 o5 .06 (D) 0.006
2 2

2.39)" - (1.61 .

239y -6 _ vl orouL yri
2.39-1.61

(A) 0.78 (B) 1.78 @ 100 (D) 6.00

AR 247 w1l g1l GHRAL IRITR 5:4 9. AR AW 6UE AL GHRAL JJRUTR 11:9 €9, 2 AAUHL
AR GHR Sedfl gl ?

.24 ay (B) 27 anl (C)32aM (D) 36 arl

A, B ¥t C 1ol dudld 224 HI2 245 HIZ UidR I3 AvL 69, A 10 Ul 7 HIK WS, B 12 dudl 5 WA
H2, 21 C 15 UL 3 Wi L2, Av 69, % vidRe, $A ML 3L.1,75,000 ldl C IR 52¢ HIg YsAdl WA
quy 897

@:..45.000 (B) 31.50,000 (C) 31.55,000 (D) 31.60,000
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074.

07s.

076.

077.

078.

079.

080.

081.

082.

10 618+ 15 511 7 [Bami Yol 53 9, 10 sumsi 24 514 14 [Bammi yel 53 6. 0 qAUHI 5 6d-l 214 10
sUOLSL 24 SIM S2dl [Baumi yel 5817
(A)3 (B)5 @ (D) 10

A U 56 v Aoy efl?
8, 27, 64, 100, 125, 216, 343
(A) 27 @100 (C) 125 (D) 343

-

V15 HIRLRA 314,455 , 3110 UL YU AHL A58 52 69, A 1R AU 31.8.25 89, A 12% U €2 dls=s
ystadHl 20d dl d- 524, Sldls~s unal?
(A) 31.207.40 (B) 31.534.00 @:..645.00 (D) 31.655.00

25 ¢l uaus 18 16 (5.4,  2id2 2 sausi 51U O 2uR naws [Azta-u uami 16 (5.4, 2idr stud 4
sALs AL Y. 2L etonul 1R wiellui §LdlHl aidl sedl wa?

(A) 4 (3.4, /seus @ G0 sas
(C) 8 [3.:L./5c18 (D) 10 (5.4l /5cus

s cASIHI (in a decade) Hi A8 Azl 1,75,000 & Al 2,62,500 i £9. 1 AAANHL € a¥l S2c 251
azdl ati da 9?

(A) 4.37 % @: (C) 6 % (D)7 %
Al 2¥s (Non-Stick) UUB Uz.......... o 2119381 (Coating) dRUSAHL 1d 8,

(A) WA (PVC) @254t (Teflon)

(C) 5191 321 (Black Paint) (D) uidl229A (Polystyrene)

ALdluu Hed (Sodium Metal) A AAS W2 Wl i AvUHL 20d 97
(A) U2ld (Petrol) (B) €12 (Alcohol)
(C) well (Water) .?;212{1'1 (Kerosene)

AL3L - (Soda Water) i 58 tustd GHUH 2ud €97
(A) s16ii-lls 2413 - (Carbonic acid)

(B) u¢g s 2413 - (Sulphuric acid)

.3[0{'1 JRALSASS - (Carbon dioxide)

(D) a2 4313 - (Nitrous acid)

yseluR (Nuclear) 254 HUdL HIG 5L 5L GualoL i 697
(A) 3;{%2@:[3-{ (Angstrom) .{S ¥\ (Fermi)
(C) *42-t (Newton) (D) 24l (Tesla)
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083.

084.

08s5.

086.

087.

088.

089.

090.

35215102 (Rectifier) 54l Sd U GUALIHI AUML 2ud €97

A) S352 321 Uiz s32 Ui Al (Direct Current to Alternating Current)
.b{\léZQ'}la% s321 31342 s32Ui vl (Alternating Current to Direct Current)

(C) slaaie2+ dl die2%ui dotéla (High Voltage to Low Voltage)
(D) Al ARy A SIUAER YU ANl (Low Voltage to High Voltage)

281l 2sdla uerduidl sul uet Geul¥d (Emitted) Adl 2l?
(A) %3@15;}'1 (Electrons)

(B) 6&&;:[ Horrdls Aldaun (Electromagnetic Radiations)
(C) »ues1 WEls&RU (Alpha Particles)

.vga:m (Neutrons)

RIS simll gl Uere sudd sdl (Patented Dynamite)?

(A) J. R. Glauber @~ Novel
(C) G. Fawkes (D) W. Bickford

allavu w2l 230l (Small Pox Vaccine) -l 208 s18 531 ¢ dl?
(A) Robert Koch .Edward Jenner
(C) Robert Hooke (D) Louis Pasteur

Alefl atn opeflaudil ua- el (Mammals) S HiuHi 2ud € ?
(A) & (Whales) @:i\+ (Dolphins)
© gl (Elephant) (D) $i°u? (Kangaroos)

Adl-udRan (Salinization) ¥i2d

(A) well-u {lsrg is-lsw ad/Hlsig urwe aug
@0 Drg/anz wam ang

(C) 040 Hletg xR aug

(D) el Hlsid ueL aug

“[Aopu ¢ AR 2151-2021” Vijay Hazare Trophy-2021 $41 &4 gIR1 Dddiii 204 97

(A) aHla-ug (B) Ho1d
@ aa uza (D) 2%31d

S1aHi Ala 2uaion glrl s2aiml sey $-354 %1 - “Health Index Edition” 61812 WSUHL 201A4 697

(A) ua4 (B) vl (C) Al
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

“Aogs2s v AR “Rejected iron ore’’~ll [Asiull Hldl su1 A2 c-1da €972
(A) ArRUd @i (C) wauMgl (D) A2

S1AH AU gL I3 A2euse di-A (Launch) $2aHE A 8. dAL 53 UM 2] 2094 87
(A) $1UR A2- 7 -F1 (Inmarsat 7 -F1) @512 22- 6 -F1 (Inmarsat 6 -F1)
(C) $HMIR A2- 5 -F1 (Inmarsat 5 -F1) (D) SHHIR A2- 4 -F1 (Inmarsat 4 -F1)

“yollendl xAad-20217- sreulis s avg Gu-u e A U sid 2uuami uda sdi?
@115 G (Anukruti Upadhyay) (B) Y™ioll 2434 (Shubhangi Swarup)
(C) 2=l €12l (Anvi Doshi) (D) -l 20 A (Namita Gokhle)

“qes diA A4dlld ARIS” (World Sangeet Tansen Festival) $4l A%UHI 2UALDd $AUHL 204 97
(A) HSIRIZ (B) Grixug @22 (D) %20+

QAR

32 qui-ll Adl oile SLAH] tURAL AA-MiE)l s astad Rga/ABsu 531 ami 2uda 872
(A) INS A%Yd (INS Rajput) @1 ~s v (INS Khukri)
(C) INS [asia (INS Vikrant) (D) INS [asu (INS Vikram)

B34 Aot WUA “James Webb Space” -l Al aion 2dlsiy (Telescope) 54 AU GIRA AUSIAHL AR
YUl uda 97

(A) Su=1 (ISRO) (B) B4 (Jexa)
(C) AUSIUAHI™ (Roscosmos) @ :u (NAsA)

“The Turnover Wizard - Saviour of Thousands” A si-l sucusa (autobiography) 97
(A) 2l 2oyt @110 2 Aud
(C) A5 AUHUSLA HERU (D) yecla audleie

Hi2L A% (Larger State) WSl sul Au ld 2ualo Seu $=3s5u 202141 Aledl Buy (Top) e
qndy 697
(A) alerug (B) Grixuea @::n (D) HAUBY

D2 WA 56 uubla 2024 <ol 15 fuiofle ules-L (Green Fixed Deposit Scheme)”’ A3 53¢ €97
(A) Axis Bank (B) ICICI Bank
(C) HDFC Bank @:1dusind Bank

2022-2023 - ani-ll “wiel S-3u1 32 31%4 (Khelo India Youth Games 2022-2023)” $41 A%UHI 2UADd
IR 97

(A) 30 (B) s<lauvu
@22 (D) %2
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101.

102.

103.

104.

105.

106.

107.

A person is standing in a bus. When the bus starts moving forward suddenly
(A) The person moves forward

(B) The person remains stationary

(C) The person is unaffected

.The person moves backward

Steradian is the SI unit of which of the following?
(A) Phase angle (B) Luminous intensity
(C) Mass @sotid angle

A cubical block rests on an inclined plane of p = 1/7/3, determine the angle of inclination
when the block just slides down the inclined plane.

(A) 40° (B) 50° @:o° (D) 20°

The water droplets in free fall are spherical due to
(A) Gravity

(B) Viscosity

.Surface tension

(D) Intermolecular attraction

A position dependent force, F = 7 — 2x + 3x*> N acts on a small body of mass 2 kg and
displaces it from x = 0 to x = Sm. The work done in joules is

@35 (B) 270
(C) 35 (D) 70

Two wires have the same material and have the same volume. However, wire 1 had cross
sectional area A and wire 2 has cross sectional area 3A. If the length of wire 1 increases
by Ax on applying force F, how much force is needed to stretch wire 2 by the same amount?

(A)F (B) 4F
(C) 6F @

1 poise is equal to
(A) 10 N s m™
(B) 100 N s m™
(C) 1/100 N s m>

@/10Nsm

[BCW] [Contd.
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108.

109.

110.

111.

112.

113.

114.

Which of the following is not an example of semi-crystalline polymer?
(A) HDPE (B) Nylon
(C) Polyesters .LDPE

What is the Ion-free water coming out from the exchanger called?
.Demineralized water

(B) Disinfected water

(C) Coagulated water

(D) Potable water

The thermal decomposition of nitrogen pentoxide in the gaseous phase is the example of

which of the following?
.First order reaction
(B) Half order reaction
(C) Zero order reaction

(D) Second order reaction

Which of the following is not an example of a natural biodegradable polymer?
(A) Collagen @roiyvinyl alcohol
(C) Lignin (D) Natural rubber

A circle will appear on an isometric drawing as

(A) Circle (B) Parabola
@cuipse (D) Cycloid

Where do the projection lines converge in a perspective sketch?
(A) Eye point (B) Horizon line
(C) Ground line .Vanishing point

Which set of lead grades has a grade out of sequence?
(A) H, HB, B, 3B

(B) 6B, B, H, 4H

(C)9H, HB, B, 2B

@B. 4,531

[BCW]
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115.

116.

117.

118.

119.

120.

Oblique sections are useful to show
.Interior shapes

(B) Foreshortened features

(C) Projected features

(D) Oblique lines

Which of these prime movers is NOT a reciprocating type?
(A) Steam engine

.Steam turbine

(C) Combustion engines

(D) Reciprocating compressors

The source of energy of the sun is:
.Nuclear fusion

(B) Chemical reaction

(C) Nuclear fission

(D) Photoelectric effect

One newton is equals to:
(A) 0.20197 kef (B) 9.80665 kgf
(C) 0.97125 kef @o.10197 ket

Which of the following statements is correct?

(A) Pressure is a scalar quantity and an extensive property of the system
(B) Pressure is a vector quantity and an intensive property of the system
.Pressure is a scalar quantity and an intensive property of the system

(D) Pressure is a vector quantity and an extensive property of the system

The specific heat ratio, which is given by the Greek symbol Y, is equal to C  divided by

C Y= Cp/ C.. The value of Y for diatomic gases is

(A)1.33 @140
(©) 1.55 (D) 1.66

[BCW]
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121.

122.

123.

124.

125.

2 kg of water having a constant specific heat 4.18 kJ/kg K is stirred in a well-insulated jar

results in rise of temperature by 18°C. Find the work done of the process.
(A) 150.48 kJ @- 150451
(C) 250.48 kJ (D) —250.48 kJ

Heat and work are

(A) Intensive properties
.Path properties

(C) Point properties
(D) None of the above

A certain amount of an ideal gas is initially at a pressure p, and temperature T . First
it undergoes a constant pressure process 1-2 such that T, = 3T /4. Then, it undergoes a
constant volume process 2-3 such that T, =T /2. The ratio of the final volume to the initial

volume of the ideal gas is

(A) 0.25 &@o.75
(C) 1.00 (D) 1.50

A balloon containing an ideal gas is initially kept in an evacuated and insulated room. The
balloon ruptures and the gas fill up the entire room. Which one of the following statements

is true at the end of above process?

(A) The internal energy of the gas decreases from its initial value, but the enthalpy remains

constant.

(B) The internal energy of the gas increases from its initial value, but the enthalpy remains

constant.
.Both internal energy and enthalpy of the gas remain constant.
(D) Both internal energy and enthalpy of the gas increase.

A reversible heat transfer demand:

.The temperature difference causing heat transfer tends to zero
(B) The system receiving heat must be at constant temperature

(C) The system transferring out heat must be at constant temperature

(D) Both interacting systems must be at constant temperature

[BCW] 19
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126.

127.

128.

129.

130.

131.

132.

Two bodies in contact are said to be in thermal equilibrium when

(A) No work is done by the bodies
(B) When one of the bodies has a higher temperature
.No heat flow occurs between the two bodies

(D) When one of the bodies has a lower temperature

Second law of thermodynamics defines:

(A) Enthalpy .Entropy
(C) Heat (D) Work

An isentropic process is always
(A) irreversible and adiabatic
(B) reversible and isothermal
(C) frictionless and irreversible
.reversible and adiabatic

In the engineering stress-strain curve for mild steel, the Ultimate Tensile Strength

(UTS) refers to

(A) Yield stress

(B) Proportional limit
.Maximum stress

(D) Fracture stress

What is the percentage increase in tool life when the cutting speed is halved?

(A) 400% @:o0%
(C) 200% (D) 50%

In metal cutting operations, discontinuous chips are produced while machining:

.Brittle materials
(B) Ductile materials
(C) All of the above
(D) None of the above

Centering can be done most accurately on:
(A) Collet (B) Lathe dog

(C) Three-jaw chuck @rour-jaw chuck

[BCW]
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133. Match the Machining Tools with the portable operations:

Group A Group B

P. Centre Lathe 1. Slotting

Q. Milling 2. Counter-boring

R. Grinding 3. Knurling

S. Drilling 4. Dressing

(A) P-1,0Q-2,R4,S-3 (B) P-2, Q-1, R—4,S-3
.P—3, Q-1,R—4,S-2 (D) P-3, Q—4, R-2,S-1

134. An operational NC system consists of:
(A) Program of instruction
(B) Controller unit
(C) Machine tools

.All of the above

135. In computer aided drafting practice, an arc is defined by

(A) two end points only
.two end points and center
(C) center and radius

(D) radius and one end point

136. For a product, the forecast and actual sale for December 2021 were 25 and 20 respectively.
If the exponential smoothing constant (a) is taken as 0.2, the actual forecast sale for

January 2022 would be
@:4 (B) 23
(C)21 (D) 27

137. Setup costs do not include
(A) Labour cost of setting up machines
.Cost of processing the work piece
(C) Ordering cost or raw material

(D) Maintenance cost of the machines

138. In PERT chart, the activity time distribution is
(A) Normal (B) Binomial
.Beta (D) Poisson

[BCW] El
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139.

140.

141.

142.

143.

144.

Vehicle manufacturing assembly line is an example of
(A) Process layout (B) Manual layout
(C) Fixed layout .Product layout

Which of the following is a technique for forecasting?
.Exponential smoothing

(B) PERT/CPM

(C) Gantt chart technique

(D) Control charts

Thermal conductivity is lower for

.Air (B) Wood

(C) Water at 100°C (D) Steam at 1 bar

Which among the following is a boiler mounting?
.Blow-off cock

(B) Feed pump

(C) Economizer

(D) Super heater

With increasing temperature of intake air, IC engine efficiency
.decreases

(B) increases

(C) remains same

(D) depends on other factors

In the window air conditioner, the expansion device used is
(A) float valve
(B) thermostatic expansion valve

(C) automatic expansion valve

.capillary tube

[BCW]
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145.

146.

147.

148.

149.

150.

151.

For wire drawing operation, the work material should essentially be
(A) hard (B) tough
@ auctile (D) malleable

The graph of a network has 8 nodes and 5 independent loops. The number of branches of

the graph is
(A) 11 @ (C) 13 (D) 14

The apparent power drawn by an A.C. circuit is 10 kVA and active power is 8 kW. The

reactive power in the circuit is
(A) 4 KVAR @s AR
(C) 8 kVAR (D) 16 kVAR

A single-phase 100 kVA, 1000 V/100 V, 50 Hz transformer has a voltage drop of 5% across
its series impedance at full load. Of this, 3% is due to resistance. The percentage regulation

of the transformer at full load with 0.8 lagging power factor is

@ (B) 6.8 (C) 8.8 (D) 10.8

Most commercial compound dc generator is normally supplied by manufacturers as over

compound machines because

.Degree of compounding can be adjusted by diverters across series field
(B) They have ideally best for HVDC

(C) Cost effective than shunt

(D) Zero percent regulation

In a salient pole synchronous motor, the developed reluctance torque attains the maximum

value when the load angle in electrical degrees is

(A)0 [ JE (C) 60 (D) 90

In a synchronous machine, hunting is predominantly damped by
(A) Mechanical losses in the rotor

(B) Iron losses in the rotor

(C) Copper losses in the stator

.Copper losses in the rotor

[BCW] 23
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152.

153.

154.

155.

156.

A 220 V shunt motor develops a torque of 54 Nm at an armature current of 10 A. The
torque developed when the armature current is 20 A, is

(A) 54 Nm
(B) 81 Nm

@108 Nm

(D) None of the above.

A 200V, 10 A motor could be rewound for 100 V, 20 A by using as many turns

per coil of wire, having the cross-sectional area.
(A) twice, half
(B) thrice, one-third

.half, twice

(D) four times, one-fourth

A 4-pole, separately excited, wave wound DC machine with negligible armature resistance
is rated for 230 V and 5 kW at a speed of 1200 rpm. If the same armature coils are
reconnected to form a lap winding, what is the rated voltage (in volts) and power (in kW)
respectively at 1200 rpm of the reconnected machine if the field circuit is left unchanged?

(A) 230 and 5
@115 ands
(C)115 and 2.5
(D) 230 and 2.5

Ratio of the rotor reactance X to the rotor resistance R for a two-phase servomotor
(A) Is equal to that of a normal induction motor

.Is less than that of a normal induction motor

(C) Is greater than that of a normal induction motor

(D) May be less or greater than that of a normal induction motor

The compensating winding in a dc machine

(A) Is located in armature slots for compensation of the armature reaction

(B) Is located on commutating poles for improving the commutation

.Is located on pole shoes for avoiding the flashover at the commutator surface

(D) Is located on pole shoes to avoid the sparking at the brushes.
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157.

158.

159.

160.

161.

162.

For the power semiconductor device IGBT, MOSFET, Diode and Thyristor, which one of
the following statements is TRUE?

(A) All the four are majority carrier devices.
(B) All the four are minority carrier devices.

(C) IGBT and MOSFET are majority carrier devices, whereas Diode and Thyristor are

minority carrier devices.

.MOSFET is majority carrier devices, whereas IGBT, Diode, Thyristor are minority

carrier devices.

The average power delivered to an impedance (4 — j3) Q by a current Scos (100zt +100)

Alis
(A) 4.2 W @:-o v
(C) 625 W (D) 125 W

What should be the minimum insulation resistance of a 11 kV line when tested with a
1000 Megger?

(A) 0 kV @so v
(C)33kV (D) 120 kV
For cleat wiring and 250 volts supply, the cables will be placed apart center to

center for single-core cables
(A)4 cm (B) 3 cm
(C) 4.5 cm @:5cm

Which semiconductor power device out of the following is not a current triggering device?
(A) Thyristor

(B) Triac

(©) G.T.0.

@ MiosFET

The triple frequency of a six-phase half wave rectifier for 220 V, 60 Hz input will be
(A) 2160 Hz
(B) 720 Hz

@:o0 12

(D) 60 Hz

[BCW] 25
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163.

164.

165.

166.

167.

168.

According to second law of illumination, the illumination at any point on an inclined
surface is

(A) Directly proportional to the sin of the angle between the normal to the surface at
that point.

.Directly proportional to the cosine of the angle between the normal to the surface at
that point.

(C) Directly proportional to the tan of the angle between the normal to the surface at
that point.

(D) Directly proportional to the cot of the angle between the normal to the surface at
that point.

The electromagnetic waves travel with a velocity
(A) Equal to velocity of sound

.Equal to velocity of light

(C) Less than velocity of light

(D) None of these

On which of the following routine tests are conducted?
(A) Oil circuit breakers
(B) Air blast circuit breakers

(C) Minimum oil circuit breakers
.All of the above

With which of the following, a circuit breaker must be equipped for remote operation?
(A) Inverse time trip
(B) Time-delay trip

.Shunt trip

(D) All of the above

The typical ratio of latching current to holding current in a 20 A thyristor is

(A) 5.0 @:.0
© 1.0 D) 0.5

A switched mode power supply operating at 20 kHz to 100 kHz range uses as the main
switching element

(A) Thyristor @ osrET
(C) Triac (D) UJT
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169.

170.

171.

172.

173.

174.

A phase-controlled, single-phase, full-bridge converter is fed from a 230 V, 50 Hz, AC source.
The fundamental frequency in Hz of the voltage ripple on the DC side is

(A) 25 (B) 50
@100 (D) 300

The output current in PWM DC-DC converters is equal to

(A) Average value of the output inductor current

(B) Product of an average inductor current and a function of duty ratio
@cicher (4) or B)

(D) None of these

A three-phase voltage source inverter with ideal devices operating in 180° conduction
mode is feeding a balanced star-connected resistive load. The DC voltage inputis V . The
peak of the fundamental component of the phase voltage is

(A)V, /n @:v,
)V, /n (D) 4V, /n

The output voltage waveform of a three-phase square-wave inverter contains
(A) Only even harmonics

.Only odd harmonics

(C) Both even and odd harmonics

(D) Only triple harmonics

The speed of a D.C. shunt motor more than its full-load speed can be obtained by
.Decreasing the field current

(B) Increasing the field current

(C) Decreasing the armature current

(D) Increasing the armature current

The main reason for connecting a pulse transformer at the output stage of a thyristor
triggering circuit is

(A) To amplify the power of the triggering pulse

.To provide electrical isolation

(C) To reduce turn on time of the thyristor

(D) To avoid spurious triggering of the thyristor due to noise
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175.

176.

177.

178.

179.

180.

A thyristorised three-phase fully controlled converter feeds a dc load that draws a constant

current. Then the input ac line current to the converter has
(A) An r.m.s. value equal to the dc load current

(B) An average value equal to the dc load current

.A peak value equal to the dc load current

(D) A fundamental frequency component, whose r.m.s. value is equal to the dc load current

When the speed at which a conductor is moved through a magnetic field is increased, the

induced voltage
.Increases (B) Decreases
(C) Remains Constant (D) Reaches Zero

If the excitation of the synchronous generator fails, it acts as a
(A) Synchronous motor

(B) Synchronous generator

(C) Induction motor

.Induction generator

Bourdon tube is used for the measurement of gauge pressure of
(A) Gas (B) Liquid fluid
(C) Solid @soth (A) and (B)

Which of the following represents active transducer?
(A) Strain gauge

(B) Thermistor

(O) LVDT

.Thermocouple

In wire wound strain gauge, the change in resistance on application of strain is mainly
due to

(A) Change in length of wire
.Change in length & diameter of wire
(C) Change in diameter of wire

(D) Change in resistivity
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181.

182.

183.

184.

18S.

186.

LVDT which is an instrument for the measurement of displacement, works on the

principle of

(A) Linear inductance

(B) Non-linear inductance
.Mutual inductance

(D) Linear capacitance

A Manganin swamping resistance is connected in series with a moving coil ammeter

consisting of a milli-ammeter and a suitable shunt in order to
.Minimize the effect of temperature variation

(B) Obtain large deflecting torque

(C) Reduce the size of the meter

(D) Minimize the effect of stray magnetic fields

Instrument transformers are known to introduce magnitude and phase errors in

measurements. These are primarily due to

(A) Improper connections on the primary side

(B) Measurement errors inherent in the meter connected to the transformer secondary
.Open and short circuit parameters of the instrument transformers

(D) None

The displacement measuring instruments is / are

(A) Potentiometer (B) LVDT

(C) RVDT @i of these

Normally which of the following has a negative temperature coefficient?
.Thermistor (B) Nickel

(C) Copper (D) Platinum

Which of the following represents Reynolds number for laminar flow?
@:css than 2000

(B) Greater than 4000

(C) Infinite

(D) None of the mentioned
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187.

188.

189.

190.

191.

192.

When visual indication of pressure level is required then the instrument generally used is
.Monometers

(B) Diaphragm sensors

(C) Bourdon tube

(D) Resonant wire device

The instrument which is not suitable for the application in automatic control scheme
.Rotameters

(B) Pitot static tube

(C) Rotary piston meter

(D) Orifice plate

Which of the following is chosen as a standard thermometric substance?
.Gas (B) Thermocouple

(C) Electric resistance (D) Mercury

Which law of thermodynamics is the basis of temperature measurement?
.Zeroth law of thermodynamics

(B) First law of thermodynamics

(C) Second law of thermodynamics

(D) None of the above

The exhaust gas analyser is used for measuring which gas?
A0, (B) CO,
(C) HC @11 of the above

Which of the following is used to implement gear changes in the gear unit of an automatic

transmission?

(A) Synchronizer

(B) Planetary gear

(C) Magnetic clutch
.Hydraulic multi plate clutch
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193.

194.

195.

196.

197.

198.

199.

What is the major problem in hot extrusion?
(A) Design of punch

.Design of die

(C) Wear and tear of die

(D) Wear of punch

The central gear of an epicyclic gear set is known as

.Sun gear (B) Ring gear
(C) Planet gear (D) None of these

The component of the torque converter that allows multiplication of gear is
(A) Turbine (B) Pump impeller
(C) Freewheel .Stator

The vehicle ride will be comfortable if
.Unsprung weight is kept minimum
(B) Sprung weight is kept minimum
(C) Vehicle weight is kept minimum

(D) All of these

The purpose of a stabilizer in an automobile is to reduce body

@ron (B) Pitch
(C) Yaw (D) Dip

The part of the tyre which contacts the road surface is called

(A) Carcass (B) Bead
@rrcaa (D) Ply

In heavier vehicle, the wheel rims used are
(A) Well rims

(B) V rims

(C) W rims

.Flat rims
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200.

201.

202.

203.

204.

205.

206.

207.

The Lewis form factor of gear tooth depends on
(A) Elastic modulus of the tooth (B) Module
.Number of teeth (D) Pitch circle diameter

The effect of excess camber is

(A) High steering alignment torque
(B) Hard steering

(C) Too much traction

.Uneven tyre wear

How does the brake pedal behave during ABS operation?
(A) It is pushed upwards forcibly

.It transmits slight kickback to the driver’s foot

(C) The pedal stoke becomes longer

(D) Nothing happens

In disc brakes, pad-to-disk adjustment is provided by

(A) Caliper (B) Piston

.Piston seal (D) Bleed screw

The magnetic field required for starting motor operation is provided by the
(A) Armature @ric1d windings

(C) Solenoid (D) None of these

Processes that operate with "six sigma quality" over the short term are assumed to produce

long-term defect levels below defects per million opportunities (DPMO).
(A)2 (B) 2.4 ©)3 @:+

Cam size depends upon

.Base circle (B) Pitch circle

(C) Prime circle (D) Outer circle

The pressure angle of cam depends upon

(A) Offset between centre lines of cam and follower
(B) Lift of follower

(C) Angle of ascent

.All of the above
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208.

209.

210.

211.

212.

213.

214.

For simple harmonic motion of the follower, a cosine curve represents
(A) Displacement diagram

(B) Velocity diagram

.Acceleration diagram

(D) None of the above

Kinematic pairs are those which have

(A) Two elements held together mechanically
.Two elements having relative motion

(C) Two elements having Coriolis component

(D) All of the above

Whitworth quick return mechanism is obtained by inversion of
.Slider crank mechanism

(B) Kinetic chain

(C) Five link mechanism

(D) None of the above

The radiator tubes are manufactured by using
(A) Cast iron tubes (B) Aluminium tubes
.Brass tubes (D) Steel tubes

In a diesel engine, the suction contains

(A) Fuel Only @-i- ony
(C) Air or Fuel (D) Mixture of air and fuel

The size of an engine cylinder is referred to in terms of
(A) Diameter and bore (B) Bore and length
.Bore and stroke (D) None of the above

Almost all bearing used in automotive engines are
(A) Glide bearings .Friction bearings
(C) Antifriction bearings (D) None of the above
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215.

216.

217.

218.

219.

220.

221.

The pump part that rotates and causes water circulation between radiator and the engine

is called
.Impeller (B) Fan
(C) Bypass (D) None of the above

Piston compression rings are manufactured by
(A) Aluminium .Cast iron
(C) Steel (D) Bronze

In the coil spring type of clutch when the pressure plate and cover are separated, the
spring pressure must be held by

(A) Hand

.An arbor press
(C) A lever

(D) A heavy weight

In a Total Quality Management, all members of an organization participate in improving
(A) Processes, product

(B) Processes, product, services

(C) Processes, services and products

.Processes, product, services and culture

Atwhich angle primary unbalanced force in reciprocating engine mechanism is maximum?

@ (B) 90°

(C) 360° (D) All of these

Which of the following factors are not responsible for unbalancing in rotating systems?
(A) Errors

(B) Tolerances

(C) Shape of the rotor

.None of the above

A point on a link connecting a double slider crank chain will trace a
(A) straight line (B) circle
(C) parabola .ellipse
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222. Which of the following are the inversions of double slider crank chain?
1. Oldham coupling
2. Whitworth quick return mechanism
3. Beam engine mechanism
4. Elliptical Trammel mechanism
The correct answer codes are
(A) 1 and 2 @1 2na 4
(©)2,3and 4 D)1,2and 3

223. For a kinematic chain to be considered as mechanism
(A) two links should be fixed
.one link should be fixed
(C) none of the links should be fixed

(D) there is no such criterion

224. The helix angle for single helical gears ranges from
(A) 10° to 15° (B) 15° to 20°
@:0° w0 35 (D) 35° to 50°

225. The cross-sectional area of one cylinder of an engine multiplied by its stroke is called
(A) clearance volume
(B) combustion volume

.swept volume
(D) engine capacity

226. Which of the following is the lightest and most volatile liquid fuel?
(A) Diesel (B) Kerosene
(C) Fuel oil @ :asotine

227. The diesel fuel is ignited in a diesel engine by
(A) Spark plugs
.Heat of compression
(C) Diutorless ignition system
(D) Glow plugs
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228.

229.

230.

231.

232.

233.

234.

A gear having a diameter of 40 cm transmits 10 kW at 250 r.p.m. If the pressure angle is

20°, the force on the tooth of the gear is:
(A)2075 N (B) 2100 N
(C) 1935 N @:030N

Which of the following is an unclosed or open pair?
(A) Journal bearing

(B) Lead screw and nut

.Cam and follower

(D) Ball and socket joint

The Grubler’s criterion for determining the degrees of freedom (n) is equal to
(A)n=(@L-1)-]

B)n=2(L-1)-2j

@ -30-1)-2

MD)n=4L-1)-3

A software created by the programmer is called as:
(A) Algorithm

.Program

(C) Flowchart

(D) Basic block

A computer language that is difficultfor humans to read or write.
(A) High level (B) Assembly
.Machine (D) English

The process box is represented by:
.Rectangular (B) Diamond
(C) Parallelogram (D) Oval

Representation of steps to solve a problem with the help of a diagram is known as:
(A) Graph (B) Program
(C) Algorithm @riowchart
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235.

236.

237.

238.

239.

The sequence of steps written in computer language to solve a problem.
(A) Coding (B) Processing
.Algorithm (D) Program

Minimum number of temporary variables needed to swap two variables is

A1 (B) 2
©)3 D) 0

A preprocessor commands

(A) Need not start on a new line

(B) Need not start on the first column
.Has # as the first character

(D) Comes after the first executable statement

An external variable:

(A) is globally accessible by all functions

(B) has a declaration “extern” associated with it when declared within a function
(C) will be initialized to 0, if not initialized

.all of the above

Consider the following program in C language:
#include <stdio.h>

main()

{

int i;

int *pi = &i;

scanf(“%d”, pi);

printf(“%d\n”, i+5);

}

Which one of the following statements is TRUE?
(A) Compilation fails

(B) Execution results in a run-time error

(C) On execution, the value printed is 5 more than the address of variable i.

.On execution, the value printed is 5 more than the integer value entered.
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240. The output of the below code is:
void main ()
{
int const *p =5;
printf(“%d”, ++(*p));
}
A)s
(B)0
.Compile time error

(D) Runtime error

241. A variable P is called a pointer if
.P contains the address of an element in DATA
(B) P points to the address of first element in DATA
(C) P points to the address of last element in DATA
(D) P contains the DATA and the address of DATA

242. What is the right way to Initialization array?
@int numi6] = {2,4,12,5,45,5};
B)intn{} ={2,4,12,5,45,5 };

(C)intn{6} ={2,4,12 };
(D) int n(6) ={2,4,12,5,45,5};

243. typedef char *ch;
const ch P;
In this code, what is P?
.P is a constant.
(B) P is a character constant.
(C) Pis a character type.
(D) P is a pointer of character type.

244. Global variables in different files are checked
(A) at load time. (B) at assembly time.
.at linking time. (D) during execution time.
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245.

246.

247.

248.

249.

250.

251.

252.

Identify the wrong statement

(A) putchar(65)

(B) putchar(‘x’)

.putchar(“x”)

(D) putchar(‘\n’)

In C, a Union is

(A) memory location .memory store
(C) memory screen (D) None of these
C supports the  statement to branch unconditionally from one point to another in
the program.

(A) continue .goto

(C) break (D) for

A “switch” statement is used to:

(A) Switch between user-defined functions in a program
(B) Switch from one variable to another variable

(C) Jump from one place to another in a program
.None of these

Function argument can be
(A) A structure member
(B) A pointer variable

(C) A complete structure
.All of the above

Which operator in C is called a ternary operator?
(A) if..then (B) ++

@:: D) ()

When the main function is called, it is called with the arguments

(A) argv (B) argc

@voth (A) and (B) (D) None of these
Which is more appropriate for reading in a multi-word string?
@:cts0) (B) printf()

(C) scanf (D) puts ()
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253.

254.

255.

256.

257.

258.

259.

260.

Which of the following is an output device?
(A) Keyboard

(B) Mouse

(C) Light pen

@ visual Display Unit

A process is a

(A) single thread of execution
.program in the execution
(C) program in the memory
(D) task

What is smallest unit of the information?

@ vit (B) A byte

(C) A block (D) A nibble

Which of the following is an input device?

(A) Plotter (B) Printer
(C) Visual Display Unit .Mouse
Which of the following is not a web browser?

(A) Firefox .Facebook
(C) Chrome (D) Safari

How many levels does complex Supervisory Control and Data Acquisition system have?

(A) One (B) Two
(C) Three @rour
URL stands for

(A) Universal Resource Location
(B) Universal Response Locator
.Uniform Resource Locator
(D) Unified Resource Location

The Supervisory Control and Data Acquisition system performs
(A) Data presentation
(B) Data acquisition

(C) Networked data communication

.All of the above
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261.

262.

263.

264.

265.

266.

An individual who starts, creates and manages a new business can be
as

(A) A leader (B) A manager

(C) A Professional .An entrepreneur.

Importance of Entrepreneurship includes

(A) Economic & dynamic activity
(B) Innovation & Profit potential
(C) Risk bearing

.All of these

The process of Entrepreneurship is divided into two parts & they are
.Idea Generation and Feasibility study

(B) Innovation generation and Distribution Channel

(C) Creativity and Development

(D) Profit and Economic Development.

Which of these statements best describes the context for entrepreneurship?
(A) Entrepreneurship takes place in small business

(B) Entrepreneurship takes place in large business

called

.Entrepreneurship takes place in a wide variety of context (small, medium & large)

(D) Entrepreneurship takes place in social enterprises

Which of the following is not considered as one of the following blocks of the model

entrepreneur?

(A) Technical skills

(B) Managerial competencies
.Business competencies
(D) Personal attributes

According to MSMEDC (Micro, Small & Medium Enterprises Development) Act 2006,

Micro, Small & Medium Enterprises are classified into two classes such as
.Manufacturing & Service Enterprise

(B) Automobile & Electronic Enterprise

(C) Research & Development Sector

(D) None of these
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267.

268.

269.

270.

271.

272.

Fiscal and monetary measures to stimulate investment in private & public sector
include

(A) Lowering the rate of interest
(B) Tax reduction & Public Expenditure
(C) Price policy & Abolition of monopoly

.All of these

'Angels' usually provide which type of financing?

(A) Debt @cquity
(C) Stock (D) None of these

Sustainability of entrepreneur development depends on factors like
(A) Technical skills
(B) Technology

(C) Organizational sustainability
.All of these

An entrepreneur who enters the market with a product or service which is based on new
technology is called:

.Innovative entrepreneur
(B) Replicative entrepreneur
(C) Opportunity entrepreneur

(D) Necessity entrepreneur

An infrastructure that helps entrepreneurs in their early stage of the start-up life cycle
with plug and play facilities and other common services is called:

.Incubator

(B) Accelerator

(C) Angel investment platform
(D) Venture capital platform

Which of the following frameworks is associated with start-up entrepreneurship, especially
in the phase of solution architecture, to a greater degree?

(A) Product
(B) Manufacturing process

(C) Government
.Design thinking
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273.

274.

275.

276.

2717.

278.

IFCI stands for .
.Industrial Finance Corporation of India.

(B) Institutional Finance Corporation of India.

(C) Industrial Funding Corporation of India.

(D) Indian Finance Corporation and Institution.

is a form of Financing especially for funding high technology, high risk and

perceived high reward projects
(A) Fixed capital.

(B) Current capital.

(C) Seed capital.

.Venture capital.

The type of diversification in which the company adds complementary to the existing
product or service line is

(A) Conglomerate diversification.
(B) Horizontal integration.
.Vertical integration.

(D) Concentric integration.

The policy which stressed the role of cottage and small-scale industries for balanced
industrial development of the country is

(A) TPR 1940. @rr 1948.
(C) IPR 1956. (D) IPR 1977.

A project, which may not add to the existing profits, should be financed by
.Debentures.

(B) Preference share capital.

(C) Equity capital.

(D) Public deposits.

According to National Skills Qualification Framework (NSQF), the level 8 competency is
equivalent to

.Post graduate degree

(B) Under graduate degree

(C) Under graduate (honors) degree
(D) Doctoral degree

[BCW] 43



Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight


279.

280.

281.

282.

283.

284.

Pradhan Mantri Jan-Dhan Yojana (PMJDY) provides access to which of the following

financial services?

(A) Pension

(B) Credit

(C) Banking Savings and Deposit Accounts

.All of the above

The term 'same work or work of a similar nature' is mentioned in the
.Equal Remuneration Act, 1976

(B) Maternity Benefit Act, 1961

(C) Industrial Employment (Standing Orders) Act, 1946

(D) The Child Labour (Prohibition and Regulation) Act, 1986

Under the Apprentices Act, 1961, Apprentice is entitled for casual leave for a maximum

period of days in a year
@ (B) 10
©) 15 (D) 45

The appropriate government shall revise the minimum rates of wages under the Minimum

Wages Act, 1948 at least once in every
(A) 2 years (B) 3 years
(C) 4 years .5 years

Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the flagship scheme of
(A) Ministry of Finance

(B) Ministry of Agriculture

(C) Ministry of Food and Public Distribution

.Ministry of Skill Development

Pradhan Mantri Rojgar Protsahan Yojana (PMRPY) is implemented by
(A) Ministry of Finance

(B) Ministry of Skill Development

(C) Ministry of Food and Public Distribution

.Ministry of Labour and Employment.
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285.

286.

287.

288.

289.

290.

The Modi govt has launched which Yojana to expand the coverage of Postal Life Insurance?
.Sampoorna Bima Gram Yojana

(B) Gramin Bima Yojana

(C) Kisan Bima Yojana

(D) Garib Kalyan Bima Yojana

Designated trade defined under

(A) Equal Remuneration Act, 1976

(B) Contract Labour (Regulation and Abolition) Act, 1970
.Apprentices Act, 1961

(D) Employment Exchanges (Compulsory Notification of Vacancies) Act, 1959

MSME is defined under which Act?
@ isMED Act 2006 (B) MSMED Act 2001
(C) MSMED Act 1999 (D) MSMED Act 2004

SIDBI was set up as a subsidiary of

@z (B) IFCL.
(C) ICICL (D) SFC
DGTD stands for

.Directorate General of Technical Development.
(B) District General of Technical Development.
(C) District General of Taxation Deduction.

(D) Directorate General of Taxation Deduction

Key features of a well written business plan would include all of the following except:
(A) Financial plan

.Qualiﬁcations of the owner

(C) An analysis of the market

(D) A review of the advertising firms analyzed
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291.

292.

293.

294.

295.

296.

The Right to Information Act, 2005 replaced which Act?
(A) Information Technology Act, 2000

.Freedom of Information Act, 2002

(C) Delimitation Act, 2002

(D) None of the above

What is the age criteria to file an RTI application?
(A) 18 years and above
(B) 45 years and above
(C) 16 years and above

.No age bar

Right to Information Act, 2005 came into force on which of the following date?
(A) 22 June 2005

@2 october 2005

(C) 15 June 2005

(D) 15 August 2005

The service rendered while on duty or otherwise which may be taken into account for
the purpose of pension and gratuity admissible under Gujarat Civil Services (Pension)

Rules is
.Qualifying Service
(B) Special service

(C) Temporary service

(D) Unknown Service

Saffron revolution is related to
.Solar Energy (B) Wind Energy
(C) Cattle welfare (D) Fisherman’s welfare

India’s first e-learning initiative by II'Ts and MHRD for technical education is
(A) Webinar @nrrEL
(C) NEPTEL (D) NPTLE
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297.

298.

299.

300.

Which of the following is NOT a characteristic feature of e-learning?
(A) Empowering learner to absorb personal accomplishment

(B) Providing multiple channels of acquiring knowledge
.Nurturing experience-based learning

(D) Promoting self-initiated learning

Internship training is an example of
(A) off-the-job training

.on-the-j ob training

(C) professional training

(D) personal training

The government policy “Make in India” aims at

(A) Removal of bureaucratic sloth

(B) Reduction in cost of manufacturing

.Built best in class manufacturing infrastructure in the country
(D) All of the above

In India, the first “SKkill university” started in which one of the following states?
.Raj asthan

(B) Punjab

(C) Haryana

(D) Uttar Pradesh
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